Answer on Question #40756 — Math - Differential Calculus | Equations

Obtain the gradient of the following scalar field:
U(p,q,z)=p”2zcos2q

Solution:
The gradient vector of a scalar field f(p,q,z) is denoted Vf orgradf.

In a rectangular coordinate system, the gradient is the vector field whose components are the

partial derivatives of f: Vf :§i+ﬂj+ﬂk:(i a ﬂ);
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Answer:

The gradient of the scalar field U: gradU = (2 pz cos 2q, —2 p>zsin 2q, p* cos 2q)

http://www.AssignmentExpert.com


http://www.AssignmentExpert.com

